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MATH 150 - WEEK-IN-REVIEW 7

SANA KAZEMI

Exam 2 REVIEW

1. The number of bacteria y in a culture after t days is given by the function y(t) = 100e'/%.
(a) What is the initial number of bacteria in the culture?
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(b) After how many days will there be 4000 bacteria?
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2. The sound intensity level L (in decibels, dB), is related to the intensity of the sound I (in watts

1
per square meter), by the equation L = 10log [_)’ where Iy = 1 x 1072 TW/m? is the threshold
0

of human hearing. Determine the intensity I of a sound that registers L = 85 dB.
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3. If you invest $2000 in an account with an annual interest rate of 4%, compounded annu

4 = 1 the time it takes for an investment of $2000 to grow to $3000.
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4. A population of rabbits can be modeled using the logistic equation

1000
N(t) = 1 — 24¢-0.18t
How long does it take for population of rabbits to grow to 42007
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5. A cup of coffee cools from 80°C to 70°C in 5 minutes. If the room temperature is 25°C, what will
be the temperature of the coffee after 15 minutes?
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6. Solve for for z using the techniques discussed in class.

(a) Vit +9 =6z
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(c) m(2x+4) =5
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2 5 10 Note: X £\ 5 x3-2

Check: X = —.\‘;
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7. Use properties of logarithms to write the following as a single logarithm.

(a) 2 (logs () + 2logs (y) — 3logs(2)) = Zloi\%‘\ + Alegugl - 6 1oy

= gl | loql) Cﬂ"
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(b) %log(x +2)3 + % (log(z)* — log(z® —  — 6)%)
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8. Find the intervals where the inequalities are true.
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9. Rewrite (expand) the following logarithmic expressions as a sum and/or difference of logarithms
with linear arguments.
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10. State domain of the following functions.
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11. Given f(t) = —5(1 +1)2 + 2, evaluate the following., ¢ reel

\,-\-‘t>/0 —\> ‘t>."‘\
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r+4)2x +1)
20+ 1)(x — 5)
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12. Given the function f(z) = E

Hole(s): (“z\ ﬁ?T )

Vertical asymptote(s): __ 2= D

05 K —> {0 ) too— |

End behavior:

, evaluate the following.
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\
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13. Given g(z) = 2(e)* > 4 5, evaluate the following.

Domain: (—o0, )

Vertical asymptote(s): one

X__) £0 ) eLﬂ-?’S

X)) =D
End behavior: K— —oa ]&( )

§ =5

Horizontal asymptotes:

Yeink: (5, 2€5)

Intercept(s): X—‘V\*" none .
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14. Given h(z) = —logs(4 — 2x) + 2, evaluate the following.

Domain: -9, 2.) Q-2>° —H- XL +2
Mﬂwv\@/\k —o
Vertical asymptote(s): = t2
2
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05 {—s_ o0 , hix) = —00
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15. Compute and completely simplify the difference quotient for f(x) = +/1 — 5z using the techniques
discussed in class.

6 Fad = N -sesh
@ &ﬁt\'\) S O N U PO A V%

@ foean) - Foo du-5r-5h — 19 PN

J—

n ! oo <

|

P ARV S B
QRSN +ﬁ) kak +$\_-5,*‘)

-5

. =z
Q1-5%x=5h =« m

2
16. Compute and completely simplify the difference quotient for g(x) = 7

5 using the techniques
x

discussed in class.

2
D quesh) = z .
| LL—H\)? | xz_ ;\1_ 2%
Comm" .
oo 2o 2ek)
: R T A e S
Aboh) 0Ky « o - ——— v
®6 8 ’ \sz_\\Z_ZxL \ — xl U—ﬁlv\zxz—?,x\«\k\— xl)
P
- /—%% Jc}/{_Zkl;t L\X\\ _ ZL\ _\_qu
Y A AP Al B
(.\-plu\.\rl,?,x\r\\k\ - xl) ('\._7&1_—\«1~2,)L\«\\&\ _ Xl)
ZhEy uxk ) %L'uﬂ»f””
@ 13()‘ W) %u) 2 \‘\L\ ’L) Zh +L\M\ s
e - (O 3 —x
\'\ ) : - h U.-)xla\«z-bt\«\k\ - xl) }( (\—ﬁl«k?‘—?,x\«\L\ N x?')
h

Zh + B %
k%
(- 2% W2k Y- 42)
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17. simplify the following
(a) (20)5

Blog > Ioau,)S 6
= 1 = 2" = QB) =242

(b) logys(2%)

wl=

-9 1a?) .
- 2 \3(23) - 8\035;33 = jglma&;ﬁ -1
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